BHRRICETHIKRE Y 5 7HRKKR (2024%F)

BEERE A =] H R EE ERES BRAYA X BRGHEE

INBUEE 88 18H FHETdL & 4 iR 3 40 BEIZH L
INUTEE 88 18H FHETdL £ 4 iR 1 80 B2 L
B 88 18H FmATdb e &~ iR 1 40 Iz L
INUTEE 88 198 p=pi 1 40 BEIZH L
INRUEE 88 21H p=pia 2 40 BEIZH L
INUTEE 88 25H pi=pia 1 100 BEIZH L
INRUEE 88 25H p=pia 30 40 BFIZH L
INBIEE 88 25H p=pis 12 40 BEIZH L
KETFEE 88 26 H J\FHmEEF 6 80 BFIZH L
INBIEE 88 27H VAV 731 bicx 12 100 BEIZH L
KETFE 88 27H JI\FHmEEF 10 60 BEIZH L
XEFEE 88 27H JI\EThEE+$ 10 60 BEIZH L
INRTEE 8H 298 p=pas 3 100 2L
XEFEE 88 29H J\ETmEE$ 15 80 BFIZH L
ABEE 88 29H J\FHimEF 10 50 BFIZH L
INBIEE 88 29H p=pia 10 60 BEIZH L
INUTEE 88 29H p=pi 30 60 BFIZH L
INBIEE 88 30H B _E 5 60 BFIZH L
INUTEE 9H 2H p=pis 8 60 B2 L
INBIEE 9H 2H p=pia 43 60 BEIZH L
INUTEE 9H 28 VA S S P 30 100 BEIZH L
INEE 9AH 4H H P 10 ¥IZHL
INUTEE 9H 48 VA S S P 40 100 BEIZH L
JE 24 9H 48 & F+ i 1 120 BFIZH L
INUTEE 9H 5H VA S NP 20 100 BEIZH L
INBUTEE 9H 108 p=pia 1 40 BEIZH L
JE B3 4 9H 118 +=:# 10 BEIZH L
JE R 18 9H 118 +=;h 10 BEIZH L
JE B2 4 9H 118 +=:# 5 B2 L

JE R 1 9A 11H +=i% 10 BHIZAL




BHRRICETH2KRE Y 5 7HBRKR (2024%F)

BEERE B H H s ERES BRAYAX BRI EHE
ABEE 9R 178 J\F R 50 80 BEIZH L
ABEE 9H 178 J\F R 10 80 Iz L
AEEE 9R 178 J\F R 40 80 B2 L
INTEE 9AH 178 pi=pas 15 60 Y2 L
INBITEE 9A 178 p=pas 10 60 FIZAL
INEE 9AH 178 p=pas 15 100 Y2 L
INBITFEE 9A 178 fE _E e 1 80 YL
ABEEE 9H 188 J\FHEEH 60 40 Iz L
INBITFEE 9A 188 p=pas 30 100 FIZAL

JE 24 9H 188 & FH+F % 10 100 Iz L
INBTFEE 9AH 198 J\ P A 90 100 FIZAL
INUTEE 9H 208 J\F T EF 30 100 BHIZh L
INRTFEE 9A 208 e _E e 10 80 FIZAL
KEFEE 9AR 208 J\P T EHH 30 80 Y2 L

K 24 9R 23H 1 H+F it 20 140 BEIZH L

K 24 9R 23H & FH 4 10 60 Iz L

K4 9H 23H & H+F it 2 60 BHIZh L
INRUTEE 9R 24H FHETdb € 4 R 5 100 Iz L

& B 1 9A 25H +=f 18 100 YFIZAEL

[ B 44 9A 25H +=:+ 15 100 Y2 L

JEE B 1 9AH 26H +=f 2 100 YL

[ B 49 9AH 268 +=:+ 2 100 YIZA L
INUTEE 9H 268 FHETIEE 4 R 3 100 Iz L
INRTEE 98 278 =F e 5 40 2L
INTFEE 9A 278 e _E o 5 80 YL
ABEE 9R 27H J\F R 30 80 B2 L
INTEE 9AH 29H pi=pas 25 100 YA L
INRUTEE 9A 29H FHAETIEE 4 R 8 100 BEIZH L
AETEE 9H 30H J\F R EH 100 60 EEYD R EELOE

REEE 9R 30H J\P A&+ 80 80 . FXDEIL




BHRRICETH2KRE Y 5 7HBRKR (2024%F)

BEEESE A H HIR s EREN mAYA X BRHYGHEE
INREE 9A 30H J\ P TR 95 100 YEICHL
INEE 10H 18 i £ o 20 80 Y2 L

] == = N I@E¢%®%§%1tb%
RETFE 10H 18 J\F T EHH 130 80 . %QEE
INUTEE 10AR 3H =FE 30 100 B2 L
INEE 10H 3H pi=pas o0 140 Y2 L

K B 48 10A8 38 + =4 50 B L

K B 48 10RH 3H + = 10 B2 L
INRTEIE 108 3H FRETALE 4 iR 1 100 BIZH L
ABEFE 10R 5H J\F ik 130 80
KEFE 10H oH J\P T EHH 10 40 BEYOLEELELE
AEFE 10RH 58 J\FPhm & 100 100 . fEXDEE
AEFE 108 5H J\P TR 130 60
INRTEE 10RH 5 B | e 30 60 B2 L
INUTEE 10R 718 &R 1 60 B2 L
INEE 10H 1 p=pas 60 140 YA L

K B i 10H 18 +=:# 1 20 YEICH L

[ B 44 10H 18 +=:+ 10 100 FIZAL
INRTEE 10RH 8H B | e 10 60 B2 L
INUTEE 10R 8H B F 38 100 B2 L
KEFEE 10H 8H J\P T EHR 30 100 YL
AEFE 10R 8H J\F 50 100 B2 L
AEFE 108 8H J\F Tk 70 80 BRIz L

I == = N = ;ﬁ§§¢%®ﬁ'§%1tb%
REFEE 108 9H J\P TR 100 100 = QBRI
INRTEIE 108 13H FRETALE 4 iR 1 100 B2 L
INREE 10R 138 = 30 80 Y24 L
AEFE 10R 158 J\F ik 20 100 YEICHL
KEFE 10H 158 J\P T EHR 30 100 YA L
INTFEE 10H 158 J\P T EHR 30 100 Y2 L

K B 48 10RH 15H + = 2 20 B2 L

JE B i 10H 15H +=4 5 140 BFIZEL




BHRRICETH2KRE Y 5 7HBRKR (2024%F)

e H = H 15 B 1 EE% BAYA X BERMEHEE
NI R 08 168 ST 20 80 R L
N R 108 168 RAETER R 5 100 R
IR 108 178 s 5 140
KA E 108 178 \FHRE 30 80 It L
IR 108 178 RAEEES R 7 100 A

Y 108 178 += 5 5 140 IS L
& 218 108 178 += 5 6 100 IS L
XY 108 188 += 5 2 120 IS L
% 248 108 188 += 5 3 140 R
KA E 108 198 NFHRRE 15 80 R
KA B 108 198 NFRE 10 80 R
KA B 108 198 NF T RRE 20 100 R
KA E 108 228 NFR R 15 60 IS L
N R 108 228 P b 5 12 80 R
ET 108 228 += 5 5 140 IS L
% 48 108 228 += 5 5 140 IS L
NI 108 288 RBETER R 4 100 IS L
KA R 108 258 \F R 50 100 IS L
KA E 108 258 NG 50 100 A
KR 108 258 NFHRE 50 80 IS L
KA R 108 258 INL 50 80 R
& 218 108 258 += 5 8 100 IS L
XY 108 258 +=5 3 100 R
% 248 108 258 += 5 5 100 IS L
NI 108  25H s 6 100 IS L
N R 108 258 et 30 100 IS L
N R 108 278 et 1 100 IS L
NI 108 278 b 6 100 R
REEE 108 298 NFHRE 40 100 R
KA R 108 308 NFHRE 30 80 IS L
KA B 108 308 INLCr 10 60 IS L
IR 108 308 b 2 100 R
> [
N E 108 308 pep 200 200 REMOERBLOR

. FXDEE




BHRRICETH2KRE Y 5 7HBRKR (2024%F)

BEBES A =| Hi 35 g e 1B & % BAYAX YRR &S
REEE 1A 9H J\F TR 10 80 BIZ L
INLTEE 11H 21H =Bl 5 100 BIZEL
INLTEE 11H 21H =Bl 3 100 BIZEL
NEE 118 2180 b=Pi 1 100 BIZh L




